H=2.000 m
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¢))

H1 2.000 m
) Bl 0.300 m
) B2 1.500 m
B3 m
&)
Kh
®
y c 24
Y S 18.0
[0} 30.0
tang g 0.60
( ) gqa 149.94
20.0
( 0 20.000
( ) O 20.000
( 0 15.000
( )d 15.000
©)
X(m) Y (m) (kN/m?)
10.000 0.000 5.000

N/
N/

N/

H1

H1

| B2

12 13 14 15



®

s kN v N/m
yp= m xp = m
b,= m
O U] OJ U]
6 Xp Pv
O™ 21 N/mm®
Oca™ 7 N/mm’
Teg= 0.7 N/mm’
0= 180 N/mm’
Ta 2.1 N/mm’
T ca 0.26 N/mm?>
7
1 2
(mm) (mm) (mm) t(mm) (mm?) U(mm)
(
( )2.00
8
a)
No X Y Xn+1 - Xn-1
1 0.000 0.000 -1.500 0.000
2 0.000 0.000 0.000 0.000
3 0.000 0.000 0.000 0.000
4 0.000 0.000 0.000 0.000
5 0.000 2.000 0.300 0.600
6 0.300 2.000 1.500 3.000
7 1.500 0.000 1.200 0.000
8 1.500 0.000 0.000 0.000
9 1.500 0.000 0.000 0.000 . S
10 1.500 0.000 -1.500 0.000 ! < I
3.600
3.600 12 1.800 m2 ‘
ye 1.800  x 24.00 43200 kN A4

) > i 4 i 23 i)} xz i 4 i 173 i)}
Z L] Z



@

a)
(kN) (m) (kN m)
43.200 0.517 22.334
43.200 22.334
b)
5= 20.000 ( ) B 0.000 ( )
j= 30.964 ()
a= 64 ()
39.158 kN
x sin(a - )
a CoS(a 0 -5 ) 22.893 kN
KA=2xPa/(ys h°) = 0.636
KH=Kaxcos(o ) = 0.401
KV=KaXxsin(o ) = 0.494
4 -
3 L
B1
) | -
/
/
H1 /
1t /
/
/
0 B2 /
-1 L
-2
4 -3 -2 -1 0 2 3



(kN) (m) (KN _m)
PH=1/2xh"2 xys xKH 14.436 0.667 My=PHXY 9.629
PV=1/2xh"2xps XKV 17.784 1.100 |Mx=PVxX 19.562
OwH=0Qwxh*xKH 4.010 1.000 \My=QwHxY 4.010
OwV=0wxhxKV 4.940 1.100 Mx=0wVxX 5.434
h 2.000 m
PH :
PV
QwH :
Qwv
z 65.924 kN
b2 18.446 kN
M 33.691 kN
(M: )
)
1. .691
e /2 / 200 33.69 0.239 m
2 65.924
B:
e /6 0.250 m OK
©)
tanp = 0.6 p taneB= 0.6
+ ) . .
Fs N u+C B 65.924 x0.60 30.000 3771 L5 OK
2 H 18.446
(4)
B1
d.
B 1.500 m l |
0—H3—07 L]
H2 | H4
Q1 O
|
1,92 > / 1+6 / )
q; 85.965  kN/m’
q- 1.934 KN/m?
qa 149.94 kN/m2 ---- OK




Dfl= 0.600 m

yl= 18.00 kN/m’
B1
Df2= 0.200 m I
y2= 18.00 kN/m’
2 |
700.0 kN/m bfL = \
0= 30.0 L
= 20.0 kKN/m’ Df2 ¥ | A
B= 1.500 m 41_}
L= 1.000 m
V= 65.92 kN
HB= 18.45 kN
e= 0.239 m

= / de (a¢ K C Nc ctK qg NMNg q+172 vy, B Be Nr r)

1/3%1.022%(1x1.059%20%15.69%0.794  1.059%14.4x10.06x0.886
1/2 x18x1x1.022x4.42x0.993)

= 150 kN/m’

a: a=3
: kN/m2
q: (kN/m2)
q yl DflI y2 Df2 14.400 (kN/m2)
Ae: (m2)
Ae Be L 1.022 (m2)
Be: (m)
Be B-2 eB 1.022 (m)
o,p:
o= 1.00
p= 1.00
K:
K=1+03%*Df/Be 1.059
Nc,Ng,Nr :
tand = B/ 0.280
Nc = 15.69
Nq = 10.06
Nr=4.42

) u -1/3
n* 0.794 ' 0 10 2.000
q ) 0.886 ' 0 10 1.440
y n- 0.993 ' B B0 B 1 1.022
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€Y
a)

o= 20.000 ( )
= 309638 ()
a-= 64 ()
= 39.158 kN
: 0.000 kN
a = L FXSIN@9) 5595
s(a -¢ -0 - 0.583
KA=2x Pa/(y s h?) 0.636
KH=Kax cos(0 ) = 0.401
KV=Kax sin(d ) 0.494

H1

-4 -3 -2 -1 0 1 2 3 4

P= 0.000 kN
yp= 2.000 m ( )
b,= 0.000 m
P

Im w= 0.000 kN/m

g HI KH H1/2 1/2 y s H1'2 KH H1/3 u 13.634  kNm/m
gHI KH 1/2y s HI"2 KH Pu 18.446  kN/m
( )2.00 a a /1 22.893 kN
g HI KH H1/2 1/2 y s H1'2 KH H1/3  u (H+Hp) 13.634  kNm/m
gHI KH 1/2y s H1'2 KH Pu 18.446  kN/m



B2= 1500 mm

b= 1000 mm
T
. 2 1000 x 1500 2 475 16 3
6 6 x 10" m
ot _— 0.0 N/rnm2 ota= 0.26 N/rnm2
1c R — 0.012 N/rnm2 Tca= 0.70 N/rnm2
( )2.00
1500 mm
b= 1000 mm
2 1000 x 1500 2 s
z - 375 x 10° m
6 6
ot _— 0.0 N/mm2 ota= 0.26 N/mm2
1c R — 0.012 N/mm2 TCca= 0.70 N/mm2



0.239 0.250 OK
85.97 149.9 OK
3.77 1.50 OK
N/mm2 7.00 0.26 180.00 0.70 2.10
( 0.04 0.01
OK OK
( )2.00 0.04 0.01
OK OK

H1




